Tungsram AC187, AC188 Germanium Transistors

AC 187

npn-tranzisztor, az AC 188 komplementerije.

Hatdrértékek:
Pior = 0,8 W Icm=2A
Uceo =15V Ie=1A
Ucso=25V B = 90°C
Uggo =10V Roja = 45 °C/W
Ic=1A 0.“=—55...75 °C

Jellemzé6 adatok: 9y = 25 °C

Icev=200pA (Ucev =25V, Uge =1YV)

Icso =0,6 < 2mA  (Uceo =10V, & =90 °C)
Icgo =7 <35puA (Ucpo =10V, #=25°C)
Iceo =08<25mA (Ucgo=125V, & =90 °C)
Iceo =25<200uA (Ucso =25V, 14=125°C)
Iepo =20 <200uA (Ueso =10V, #,=25°C)
Ueryceo > 18V (Iceo = 300 mA)

Ueryceo > 32V (Iceo = 500 wA)

Ueryeeo > 10V (Ieso = 200 pA)
fr=1<3MHz (Ic=10mA, Uce=2V)
Ccpo= 100 pF (Ucso =5V, f = 450 kHz)

Munkapontok :
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pnp-tranzisztor, az AC 187 komplementerije.

Hatdrértékek:

Pior = 0,8 W Icm=2A

Uceo =15V Is =01A

Ucgo =25V # =90°C

Uggo =10V Rojc = 45 °C/W
Ic=1A Bsrg = —55...75 °C

Jellemz§ adatok: 9, = 25 °C

Uge =115...145mV  (Ic=5mA, Ucg=10V)
Icev < 200 pA (Ucev = 25V, Uge =1V, #, = 25°C)
Icego=0,4 <11 mA (Ucgo=10V, =90 °C)
Icego=5<=15pA (Uceo =10V, o, =25°C)
IeBo =15 <2007A (Ueeo =10V, O, =25 °C)

fg 2210 kHz (Ic =10 mA, Ucg=2V)

Ccso = 100 pF (Ucgo =5V, f = 450 kHz)
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